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SN DERH
Hu: DESE
B9 HESRS0I8 BB (B9l =)
A - T S2A(31) - HRAY - BAS (PNED Cival HlRE2
WS 31,945,122 34,293,670 22,348,548
Xl 212,000
Al 3,712,000
= 28,021,122
WEAHH M 30,978,211 33,655,625 A2,677,414
Al 3,500,000
= 27,478,211
H=sns018 #Hosd 30,978,211 33,655,625 A2,677,414
Al 3,500,000
= 27,478,211
tsnsolg #2358 XA 193,326 1,064,780 AB71,454
201 LEt2 | 141,626 103,680 37,946
01 AtR2telt| 57,850 57,400 450
OgEt=+=&H| 57,850
OZHAl ES=SF AREAN ESAEIH HA
50,000, 000& 50,000
Olizns & =28 2 282 M
3,000,000& 3,000
OSEXNRYEM 222 M 2,000,000& 2,000
QuSaAIHE ZHI} Cl4Y 150,000& 10 1,500
O=AM-7L 1,350
o CIRA WAEA 100,000&*12& 1,200
o KNIZAIRY Bt 40,000& 40
. Mel=g AR 60,000& 60
. M2 MgdE AR 50,000& 50
02 3223l 63,776 46,280 17,496
0zs2= & HAl 63,776
OUSIHHZ NN RERZ 37,434
. et 300&*3,00024*12& 10,800
= 1,930& %1, 15021% 123 26,634
OUEAYE ESHQTN Y8 RERS 5,211
. S 1,9302*33|*900H 5,211
ORI 2 SEQI(XIEICHY, Xt
g 2HAal) 1,930 *32|* 1504 869
OQLRBEHIEHE 28 2ELZ(IILETAM,
S0 0AM, DXIA) 15,630
. ZEt 300&%13,50024 4,050
= 1,930&*6, 00024 11,580
OJIEt BN RERZ3 4,632
. S| 1,93021x20024x12& 4,632
03 A2 20,000 0 20,000
OZG=IE =34 20,000
O241,22/0l8 SEF=XE &34
10,000, 000& 10,000
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SN DERMY
mu pEwE
©9l: HERS0I] B (S5l &Rl)
S - B SRI(3IH) - NRAY - BYS 04l b0t Cival HlDEY
Olie SIF=THE =34 10,000, 000& 10,000
202 oYl 2,000 2,000 0
01 3LHOALI 2,000 2,000 0
O=2|04H| 2,000
OuSetd 235, =3lu=| It
2,000,000 2,000
203 P&l 3,500 3,500 0
03 A=A ALFAI| 3,500 3,500 0
OUzns, wWsSeHd 2L 2HES] JHE
3,500,000 3,500
204 R4 A| 13,200 12,600 600
03 EZgR2| 13,200 12,600 600
outlgs| 50,000& 12 x12& 7,200
ONSREEZSRE 100,000& x5Hx12& 6,000
307 S12+0|& 30,000 36,000 26,000
09 2+YHELS 30,000 36,000 26,000
OUzns AAXNSA osld XA
30,000, 000& 30,000
405 XHHE S 3,000 0 3,000
01 IRIXEZFSHI 3,000 0 3,000
oZetZeld 3,000,000&1CH 3,000
2 RIIEEZ XA 21,301,700 18,193,700 3,108,000
203 FLF&| 1,700 1,700 0
03 AMIBZ=XAHLFAIH| 1,700 1,700 0
O=z=25H 23l = 1,700,000& 1,700
307 QI2tol & 21,300,000 18,192,000 3,108,000
09 2+YHELS 21,300,000 18,192,000 3,108,000
O+ RIBES 21,300,000,000& 21,300,000
HAS2E EH 495,496 1,725,494 21,229,998
201 LBt2E| 12,000 12,000 0
02 2322 12,000 12,000 0
0z22= & HAl 12,000
OHAsZE 8IS
5,0002*20004 2+ 122 12,000
202 Oid| 2,000 2,000 0
01 =LHOAYI 2,000 2,000 0
O=2|04H| 2,000
OuEEE 2= XXM A 2,000,000 2,000
401 AlEHIZLROHY| 481,496 1,711,494 A1,229,998
01 Al&HI 479,300 1,706,000 1,226,700




SN REFHY
i DSHY WA
S92l (1ERS018 BN (Srel: &)
s _ o AT =
A - T S2A(31) - HRAY - BAS (PNED e HlRE2
OHASZE Anaxl ¥ WHBAF 479,300
OB A 185,000
. AL 13,000,0002+ 10744 130,000
. MABAF 11,000,000 5744 55,000
OHAS 150, 00021+58 174 2423 174,300
OCEIF WS 100,000,000 100,000
OLED ®E 2 FIIAY 24
200, 00021+ 1007H 4 20,000
03 Al& 24| 2,1% 5,494 13,298
OAIE R 305,000, 0002440, 72% 2.1%
ENEEES FELEWP ) 1,505,400 716,000 789,400
Al 750,000
2 755,400
401 Al&HIZSCHE] 1,505,400 716,000 789,400
Al 750,000
2 755,400
01 AIZH] 1,500,000 716,000 784,000
OB A 1,500,000,0002! 1,500,000
Al 750,000
2 750,000
03 Al& 24| 5,400 0 5,400
OAIZRIHH] 1,500,000, 0002!%0.36% 5,400
2d1.20l2 BSFUE EHZA 603,780 6,987,128 16,383,348
401 NAHIZSCHE] 603,780 6,987,128 16,383,348
01 AIZH] 600,000 6,980,000 6,380,000
OTAH| 600,000, 000! 600,000
03 Al& 4t 3.780 7,128 13,348
CNEE] 600,000,0002!%0.63% 3.780
BA O2I0E SEFXE ZLBA 3,150,800 0 3,150,800
Al 1,500,000
= 1,650,800
401 AI&HIZSCHY] 3,150,800 0 3,150,800
Al 1,500,000
2 1,650,800
01 AIZH] 3,140,000 0 3,140,000
CENEV:] 140,000,002 140,000
OZAH| 3,000,000, 00024 3,000,000
Al 1,500,000
2 1,500,000
03 AlZ 4] 10,800 0 10,800
CNEE] 3,000,000,000210. 3% 10,800
BN BEOIZ SEFNE ZLBA 1,555,400 0 1,555,400
Al 750,000




SN DEZMD
M NS Ho
el sns08 HasA (S &)
. . - pS]E]=
A - 33 - SRA(3) - NRAY - BES Ofl &kt Ol Avon HIWE2
= 805,400
401 Al&2HIZ 20| 1,555,400 0 1,555,400
Al 750,000
2 805,400
01 Al 1,550,000 0 1,550,000
OAAIZA 50,000,000 50,000
OZTAHI 1,500,000, 000 1,500,000
Al 750,000
2 750,000
03 Al&Z=0H| 5,400 0 5,400
OIS 1,500,000, 000&1%0. 36% 5,400
24 2H0te YFXNE ZHBA 1,053,300 0 1,053,300
Al 500,000
2 553,300
401 AlEHIZ 2O 1,053,300 0 1,053,300
Al 500,000
2 553,300
01 Al&H| 1,047,000 0 1,047,000
OAAIEA 47,000,000 47,000
OTAHI 1,000,000, 000 1,000,000
Al 500,000
2 500,000
03 Al&=2 04 6.300 0 6.300
OAIE ST 1,000,000,000&1%0.63% 6.300
29 Kolits BEFIUE R BA 25,000 0 25,000
401 Al&2HIZ 20 25,000 0 25,000
01 Al 25,000 0 25,000
OMNLRS 7S 22K (HY) 4
25,000,000 25,000
SERINE 22 2 2L 243,129 104,575 138,554
309 &2 238,729 104,575 134,154
01 At SHAMNEZ 238,729 104,575 134,154
OHAN 7HBE SEFIUE 29
97,831,000 97,831
oYL BIFINE 29 140,898,0002 140,898
404 SNSHIEEES 4,400 0 4,400
01 BAb- SEX=EEZ 4,400 0 4,400
OYAN 722 SLFUE 2¥ 4,000,000 4,000
oL BI=INE 2 400,000 400
BEZ MY Hel 76,185 74,589 1,5%
101 @124t 39,345 37.749 1,5%
04 JIRHZZ2 XS24 39,345 37.749 1,5%




2A NSE
B DEHT M
el HsusSoE #osd (etel H3
S - - SRIEH) - MIRAR - BaS e G HI DS
OMIAZ &= 2 FH| 19,3%
OJlEs 51,7603 »1&»206& 10,663
Oxg=dg 51,7602 x12H+98L 5,073
O=gtH| 5,000 18206 1,030
OuSH| 5,000 18206 1,030
OtE=g 800
o BiA 40,0002 *x1E=10& 400
. EHIE 20,000&*2E*10E 400
OZEFIHI 400,000« 18+23] 800
OEHE NEXtg HsE SX 19,949
O¥I==) 53,5803 » 12 »206 11,038
Ozd=g 53,5803 »1H+08L 5,251
O=gt| 5,0003x1&206& 1,030
OusH| 5,0003x1&206 1,030
OJEE 800
o BHS X 40,0003 *1Z*10& 400
. &= 20,000&*2E*10& 400
Og &=l 400,000 *1&*22] 800
201 £Eh=gH| 34,840 34,840 0
01 Al 22| 16,440 16,440 0
OgEt+=EH| 16,440
O MEE §RIXNA e
60,0002 48t A% 122 2,880
O2RESEUHE M2AESKIA 7L
60,0003 48t Ax 123 2,880
OBAKIA NS E§ROXA 7
60,0003 48t Ax 123 2,880
OBAKIS U E M2AESAIA
60,0002 48t A% 122 2,880
O=s=1LAAM & MM 7
60,0002 48t A% 122 2,880
Olttizes S5 7Y 100&*20,4002 2,040
02 SS2gH| 18,400 18,400 0
o332 € MA 8,400
OLEHZ QIEY ERAIAE JIEAER
300,000&*12& 3,600
OMEXtg ADIEE HSEAIAY 0182
50,0002 *3CH*12E 1,800
ORSHAF SIESE 3,000&*1,0000H 3,000
OAlEZHI=XIHI 10,000
OJtatzt §RAIAE & |RAES
8,000,000& 8,000
OBz S8 ==aitl 2,000,000 2,000
202 O 2,000 2,000 0




SN DERMY
Za DERE M
=©H?l HEnsS0l8 Hesd (el &=J)
S B SRA(SH) - NRAY - B il &k Cival HIDS2
01 =LHOAYI 2,000 2,000 0
O=2|0it| 2,000
OMgdel A&, us 2,000,000& 2,000
nSAME 2l 29,896 27,674 2,222
101 @124 19,39% 18,374 1,022
04 JIHHI22 S E 19,39% 18,374 1,022
OuwsSAE 2telkts B2 2 &l 19,3%
oJles 51,7602+ 1206 10,663
Osgsd 51,7602 1H+08 5,073
O=gtl 5,000+ 1H»206 1,030
Oun sl 5,000 *1H»206 1,030
OJtE=g 800
o HHX 40,0003 *x1E+102 400
. =HIH 20,0002 +2Z*10& 400
OFEFIHI 400,000 * 18 *23] 800
201 LBt2 | 8,500 7,300 1,200
01 AtS2teld] 2,500 2,500 0
OgBt=E2H] 2,500
OL2REE WEE XM 7
60,0003 *302F A 1,800
OuSArH 2z Aal Ol 100,000 #7822 700
02 2324 6,000 4,800 1,200
OAEEHIS X 6,000
OREE28 2A2|AMAE XS
250,000& 128 3,000
OFHEX 2elAAE 72
250,000& 128 3,000
202 (4| 2,000 2,000 0
01 =2LHOA LI 2,000 2,000 0
o220l 2,000
OuSAE 2& W=, &&IX S0
2,000,000 2,000
WEFRLRES 2t 20,799 34,126 A13,327
101 @124 19,399 25,726 NG,327
04 JIRIH2Z2NHEE = 19,399 25,726 26,327
OZAHA 15,609
oJles 53,580& x4 B *42L 9,002
Osg=g 53,580&*4H+20 4,287
Oun sl 5,000 x4 =42 840
O=gtl 5,000 x4 =42 840
OtE=g 640




2A NSE
mu DESE N
©9: HERS0I8 BoIZZ (=E LD
S - - SRIEH) - MIRAR - BaS e G HI DS
o BHSXF 40,0002 +4 =2 320
. EHIE 20,0002 +82~2& 320
(OFSENa=tEy 3,790
OFI==) 51,7603 18 =42 2,174
Oxg=dg 51,7603 x1E*20& 1,036
OuEH| 5,0003 1842 210
O=gt| 5,0003 1842 210
OJEE 160
o BHSXF 40,0002 * 122 80
. &= 20,0002 =2 80
201 £EH=gH| 1,400 1,400 0
01 At=2teld] 1,400 1,400 0
OgEt=ZH| 1,400
O1XA ¢ 60,0003 102 A 600
OZXAA 7 200&*2,0000H 400
OoREsSE 7 1002 *2,0000H*22] 400
nS2HAH X2 24,000 21,000 3,000
201 BI2Y] 7,000 4,000 3,000
01 AtR22|H 2,000 0 2,000
O0golnsetd = w+ 7Y 2,000,000 2,000
03 &A= 5,000 4,000 1,000
O0el0|usSetd 2A &3t W= 5,000,000 5,000
307 izl 17,000 17,000 0
02 QA SANHE L 17,000 17,000 0
Ozx=sstustd sk us ¢t 2,500,000 2,500
OuSotM Al AA| 2,500,000 2,500
O0el0] WSotd M Q! 2,000,000 2,000
Odlgll =2 WSIA &S
5,000,000& 5,000
OfgUE R dEFX2 NS3A €5
5,000,000 5,000
24 SSFIE S ZE3A 700,000 0 700,000
401 AIZHIZL S0 700,000 0 700,000
01 Al£H] 700,000 0 700,000
OZ Al 700,000,000 700,000
wSAE fH 779,379 464,234 315,145
Xl 212,000
Al 212,000
a 355,379
wSAlE e 779,379 464,234 315,145
Xl 212,000




DA DEEMY
= DEAS N
Sl WEAE A (el &)
- _ _ S
A - T S2A(31) - HRAY - BAS 0 o e HlRE2
Al 212,000
o 355,379
Stz WEAE HEAS 352,448 312,160 40,288
401 AIEHIZ 2| 352,448 312,160 40,288
01 Al&HI 350,000 310,000 40,000
OQotMst stwa BHED| 250,000
OalAl& A 10,000,000& 10,000
O3 AtH| 240,000, 000& 240,000
OusSAld FH| 100,000, 000& 100,000
03 A& 2,448 2,160 288
OQtMet st BHED| & Al EH|
340,000, 000&*0.72% 2,448
HeloI2s+9 HEAS 426,931 152,074 274,857
Xl 212,000
Al 212,000
i 2,931
401 AIEHIZ 2| 426,931 152,074 274,857
Xl 212,000
Al 212,000
= 2,931
01 A&t 424,000 150,000 274,000
OBI0IESS A (7HL) 424,000
OalAl& A 17,000,000& 17,000
Xl 8,500
Al 8,500
OZ3AtHI 407,000,000& 407,000
Xl 203,500
Al 203,500
03 AIES20HHI 2,931 2,074 857
OAIE20Hd] 407,000,000&*0.72% 2,931
HAERHAY(WSEH) 187,532 173,811 13,721
lERHH|(RSEML) 102,548 92,979 9,569
lARAH (ST 102,548 92,979 9,569
101 21244| 102,548 92,979 9,569
01 B+ 102,548 92,979 9,569
OAIRI 2R+ 10,6823 *50AI2Hx16F 128 102,548
Jl2dul(nsSE =) 84,984 80,832 4,152
Jl2dbl(nsd=mt) 84,984 80,832 4,152
201 Let2ZH| 31,824 30,552 1,272
01 At22teld| 31,824 30,552 1,272
OFEEIES=] 13,260
OFAHUA2S 13,260,000& 13,260
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SH: mERMY
M HES2AZH(nSEH
el J|2ZUl(nSIM) (el &)
SA - B Rl(3) - HISAR - BaS Abod Cival HImE2
o=l 7,000 x17H*134x 123 18,564
202 Oid| 48,960 46,080 2,880
01 =LHOHI 48,960 46,080 2,880
O=LH0H| 240,000 x17Hx12& 48,960
203 AR F=&H| 4,200 4,200 0
04 EN2ILRFEI 4,200 4,200 0
ORM2IHRFEYI 350,000&*12& 4,200




